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LEARNING TARGET: SWBAT understand the _______________________________ of atoms and how electrons relate to the __________________________________________________________. This is important because _______________________ _______________________________________________________________________________________________________.

	

WAVE NATURE OF LIGHT





EVOLUTION OF THE ATOMIC MODEL




QUANTUM MECHANICS






WHAT IS THE __________________ _____________________?


WHAT IS ____________________________?


WHAT IS THE ____________________________ _______________________?
	
· Visible light accounts for 1 form of electromagnetic energy
· _____________________________
· Inverse relationship between frequency (v) & wavelength (λ)


·  ________________________________ - atoms are spheres that can’t be broken down
· ________________________________ - electrons are in a positive matrix
· ________________________________ - nucleus is the center of positive charge; electrons orbit the nucleus, but why do they stay in orbit?


·  Max Planck – introduced idea of ________________________________
· Energy is released an absorbed in ______________________________ known as quanta
· ________________________________
· E = energy; h = Planck’s constant; v = frequency
· h = ________________________________

· Based on ________________________________________________
1. Only orbits of ____________________________ are permitted
2. An “allowed state” is one in which an electron has ________________________
3. As electrons move between “allowed states,” a __________________________ is absorbed or emitted by the atom 


· Scientists studied ____________________________________ of elements
· Found that elements emit ____________________________________________
· When light strikes the surface of metals, electrons are ejected with a specific frequency; the intensity of the light does not matter



· Light exists as both a wave and a discreet packet of energy (________________)
· Waves must fit perfectly around the nucleus because there cannot be constructive or destructive interference 
· Basis of the Bohr Model  

	
CONCLUSION: ___________________________________________________________________________________________
_______________________________________________________________________________________________________
_______________________________________________________________________________________________________







· CFU: Wave / Light Application: 
1. The threshold frequency that can dislodge an electron from metallic sodium is 5.51  1014 Hz.  What is the energy of this photon?





2. What is the energy, in Joules, of a photon with a wavelength of 430.0 nm?

